KYUNGPOOK Math. J. 63(2023), 485-506 https://doi.org/10.5666/KMJ.2023.63.3.485 pISSN 1225-6951 eISSN 0454-8124 © Kyungpook Mathematical Journal

On Extended Hurwitz-Lerch Zeta Function

Mohannad Jamal Said Shahwan

Department of Mathematics, University of Bahrain, Sakheer, Bahrain

 $e ext{-}mail: mshahwan@uob.edu.bh}$

MAGED GUMMAN BIN-SAAD*

 $Department\ of\ Mathematics,\ College\ of\ Eduction,\ Aden\ University,\ Kohrmakssar,$

Yemen

e-mail: mgbinsaad@yahoo.com

MOHAMMED AHMED PATHAN

Centre for Mathematical and Statistical Sciences, KFRI, Peechi P. O., Thrissur,

Kerala-680653, India

 $e ext{-}mail: {\tt mapathan@gmail.com}$

ABSTRACT. This paper investigates an extended form Hurwitz-Lerch zeta function, as well as related integral images, ordinary and fractional derivatives, and series expansions, using the term extended beta function. We establish a connection between the extended Hurwitz-Lerch zeta function and the Laguerre polynomials. Furthermore, we present a probability distribution application of the extended Hurwitz-Lerch zeta function $\zeta_{\nu,\lambda}^{\delta,\mu}$. Several results, both known and new, are shown to follow as special cases of our findings.

1. Introduction

The Hurwitz zeta function is classically defined by the formula [10]:

(1.1)
$$\zeta(z,a) = \sum_{n=0}^{\infty} (a+n)^{-z} \quad (a \in \mathbb{C} \setminus \mathbb{Z}_0^-; \Re(z) > 1),$$

Received August 7, 2022; revised January 21, 2023; accepted February 22, 2023. 2020 Mathematics Subject Classification:11M06, 11M35; Secondary 33C20. Key words and phrases: Extended beta function, Hurwitz-Lerch zeta function, extended hypergeometric functions, Mellin-Barnes transformation.

^{*} Corresponding Author.

which is a generalization of the Riemann zeta function

(1.2)
$$\zeta(z) = \sum_{n=0}^{\infty} n^{-z} \quad (\Re(z) > 1).$$

Here and elsewhere, let $\mathbb{C}, \mathbb{R}, \mathbb{N}$, \mathbb{N}_0 and \mathbb{Z}_0^- denote, respectively the sets of the complex numbers, real numbers, positive integers, non-negative integers, and the non-positive integers.

The Hurwitz-Lerch zeta function [10,p.27(1)]:

(1.3)
$$\Phi(y, z, a) = \sum_{n=0}^{\infty} \frac{y^n}{(a+n)^z},$$

$$(a \in \mathbb{C} \setminus \mathbb{Z}_0^-; z \in \mathbb{C} \text{ when } |y| < 1; \Re(z) > 1 \text{ when } |y| = 1),$$

is a special function that generalizes the Hurwitz zeta function $\zeta(z,a)$. Φ is an analytic function in both variables y and z in a suitable region and it reduces to the ordinary Lerch zeta function when $y=e^{2\pi i\lambda}$:

(1.4)
$$\Phi(e^{2\pi i\lambda}, z, a) = \phi(\lambda, z, a) = \sum_{n=0}^{\infty} \frac{e^{2\pi in\lambda}}{(a+n)^z}.$$

The zeta function $\Phi(y, z, a)$ has since been extended by Goyal and Laddha [15,p. 100 (1.5)] in the form:

(1.5)
$$\Phi_{\mu}^{*}(x,z,a) = \sum_{n=0}^{\infty} \frac{(\mu)_{n} x^{n}}{(a+n)^{z} n!},$$

where $(\alpha)_n = \frac{\Gamma(\alpha+n)}{\Gamma(\alpha)} = \alpha(\alpha+1)...(\alpha+n-1)$ denotes the Pochhammer's symbol, $\mu \in \mathbb{C}, a \neq \mathbb{Z}_0^-$ and |x| < 1. Obviously, when $\mu = 1$, (1.5) reduces to (1.3).

Bin-Saad introduced the hypergeometric type generating function of the Hurwitz-Lerch zeta function in [5], which is defined by (1.3) and (1.5) as follows:

(1.6)
$$\zeta_{\lambda}^{\mu}(x,y;z,a) = \sum_{m=0}^{\infty} (\mu)_m \Phi(y,z,a+\lambda m) \frac{x^m}{m!}$$

where $|x| < 1, |y| < 1; \mu \in \mathbb{C} \setminus \mathbb{Z}_0^-, \lambda \in \mathbb{C} \setminus \{0\}; a \in \mathbb{C} \setminus \{-(n + \lambda m)\}, \{n, m\} \in \mathbb{N}_0$ and Φ is the Hurwitz-Lerch zeta function defined by (1.3).

The case when y = 0 of the definition (1.6) gives us the following further generalization of the zeta function defined by (1.5) [5]:

(1.7)
$$\zeta_{\lambda}^{\mu}(x,0;z,a) = \Phi_{\mu,\lambda}^{*}(x,z,a) = \sum_{m=0}^{\infty} \frac{(\mu)_{m} x^{m}}{m!(a+\lambda m)^{z}},$$

where $|x| < 1; \mu \in \mathbb{C} \setminus \mathbb{Z}_0^-; a \in \mathbb{C} \setminus \{-(\lambda m)\}, m \in \mathbb{N}_0.$

A further generalization of the Hurwitz-Lerch zeta function Φ_{μ}^{*} (see Eq. (1.5)):

(1.8)
$$\Phi_{\lambda,\mu;\nu}(x,z,a) = \sum_{n=0}^{\infty} \frac{(\lambda)_n(\mu)_n \ x^n}{(\nu)_n(a+n)^z},$$

where $\lambda, \mu \in \mathbb{C}$; $\nu, a \in \mathbb{C} \setminus \mathbb{Z}_0^-$; $x \in \mathbb{C}$ when |x| < 1; $\Re(z + \nu - \lambda - \mu) > 1$ when |x| = 1, was investigated earlier by Garg et al. [14,p.313, Eq(1.7)]. The Beta function B(x, y) is a function of two complex variables x and y and defined by

(1.9)
$$B(x,y) = \begin{cases} \int_0^1 t^{x-1} (1-t)^{y-1} dt, & \Re(x) > 0, \Re(y) > 0, \\ \frac{\Gamma(x)\Gamma(y)}{\Gamma(x+y)}, & x, y \in \mathbb{C} \setminus \mathbb{Z}_0^-. \end{cases}$$

The integrals in (1.9) are known as first-order Eulerian integrals. Several authors have recently considered extensions of some well-known special functions (see [6-9]). Chaudhry et al. [5] presented the following extension of the Beta function in 1997: (1.10)

$$B(x,y;p) = \int_0^1 t^{x-1} (1-t)^{y-1} \exp\left[\frac{-p}{t(1-t)}\right] dt; \Re(p) > 0, \Re(x) > 0, \Re(y) > 0,$$

and it has been proved that this extension has a connection with Macdonald, Error, and Whittaker's functions. Subsequently, Chaudhry et al. [8] used the definition of the function B(x, y; p) to provide an extension of the Gaussian hypergeometric function ${}_{2}F_{1}$ and the confluent hypergeometric function ${}_{1}F_{1}$ as follows (1.11)

$$F_p(a,b;c;x) = \sum_{n=0}^{\infty} \frac{B(b+n,c-b;p)(a)_n}{B(b,c-b)} \frac{x^n}{n!}; p \ge 0, |x| < 1, \Re(c) > \Re(b) > 0,$$

and

$$(1.12) \quad \Phi_p(a,b;c;x) = \sum_{n=0}^{\infty} \frac{B(b+n,c-b;p)}{B(b,c-b)} \frac{x^n}{n!}; p \ge 0, |x| < 1, \Re(c) > \Re(b) > 0.$$

The special cases of (1.10), (1.11), and (1.12) when p=0 reduce immediately to the classical beta function B(x,y), the Gaussian hypergeometric function ${}_2F_1$ and confluent hypergeometric function ${}_1F_1$ respectively. Various integral representations [6] of the extended beta function are available, two of which are shown below:

(1.13)
$$B(x,y;p) = 2 \int_0^{\frac{\pi}{2}} (\cos \theta)^{2x-1} (\sin \theta)^{2y-1} \exp(-p \sec^2 \theta \csc^2 \theta) d\theta,$$

(1.14)
$$B(a,b;p) = 2^{1-a-b} \int_{-\infty}^{\infty} \exp\left[(a-b)x - 4 \ p \cosh^2 x\right] \frac{dx}{(\cosh x)^{a+b}} dx.$$

Formulas (1.13) and (1.14) can be obtained by using $t = \cos^2 \theta$ and $t = \tanh x$ in formula (1.10) respectively. By using the definition (1.5) and the extended Beta function (1.10), the authors in [25] introduced an extension of the generalized Hurwitz-Lerch zeta function as follows:

(1.15)
$$\Phi_{\lambda,\mu,\nu}(z,s,a;p) = \sum_{n=0}^{\infty} \frac{B(\mu+n,\nu-\mu;p)}{B(\mu,\nu-\mu)} \frac{(\lambda)_n z^n}{n!(a+n)^s}.$$

In [1] Barnes introduced double zeta function in the form:

(1.16)
$$\zeta_2(z; a, \omega) = \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} \frac{1}{(a+n+m\omega)^z},$$

where a > 0, ω is a non-zero complex number with $|\arg(\omega)| < \pi$. Note that the definition (1.16) is direct generalization of Hurwitz zeta function (1.1) and also we observe that in (1.16) the product of an arbitrary parameter ω with the summation index m. Again, for n = 0, equation (1.16) reduces to the zeta function:

(1.17)
$$\zeta(z; a, \omega) = \sum_{m=0}^{\infty} \frac{1}{(a + \omega m)^z},$$

which further for $\omega = 1$ reduces to Hurwitz zeta function (1.1) and for $\omega = 1$, a = 0 gives us the Riemann zeta function:

(1.18)
$$\zeta(z) = \sum_{m=0}^{\infty} m^{-z}.$$

Barnes [2] then proceeded to develop a theory of more general functions and he introduced the multiple zeta function defined by

$$(1.19) \zeta_r(s; \alpha, (\omega_1, \cdots, \omega_r)) = \sum_{m_1=0}^{\infty} \cdots \sum_{m_r=0}^{\infty} \frac{1}{(\alpha + m_1\omega_1 + \cdots + m_r\omega_r)^z}.$$

Motivated by the works of Barnes (1.16) and (1.19), recently many researchers adopted the approach of Bernes in [1] and [2] and proposed new extended (and generalized) Hurwitz zeta functions. For instance, Bin-Saad [5] proposed the definition (1.7) as an analogy and generalization of the definition in (1.17). Further, in [21] Matsumoto introduced a generalization of Hurwitz zeta function in the form

$$\zeta_r((s_1,\cdots,s_r);(\alpha_1,\cdots,\alpha_r),(\omega_1,\cdots,\omega_r))$$

$$(1.20) = \sum_{m_1=0}^{\infty} \cdots \sum_{m_r=0}^{\infty} (\alpha_1 + m_1 \omega_1)^{-s_1} \times (\alpha_1 + m_1 \omega_1 + m_2 \omega_2)^{-s_2} \times \cdots \times (\alpha_1 + m_1 \omega_1 + \cdots + m_r \omega_r)^{-s_r}.$$

Furthermore, a generalized Hurwitz-Lerch zeta function is proposed in the following manner (see [19]):

(1.21)
$$\phi_{\mu}^{\alpha,\beta}(z,s,a) = \sum_{n=0}^{\infty} \frac{(\mu)_n z^n}{(a + \alpha z^{\beta} n)^s n!}.$$

It is worth noting that adding a complex parameter, say λ multiplied by the summation index m to the denominator, as shown in equations (1.7), (1.16), (1.17), and (1.19)-(1.21), makes the factor λm arbitrary, and various interesting special cases can be obtained by appropriately specializing the relevant parameter λ . In this paper, we use the same approach as in [1, 2, 4, 21, 25] to introduce a new extended Hurwitz-Lerch zeta function $\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p)$. This class of zeta function has a richer mathematical structure and many related useful properties that cannot be deduced from known definitions. The rest of this paper is organized as follows. In Section 2 we introduce and describe some properties and relationships for the function $\zeta_{\nu,\lambda}^{\delta,\mu}$. Relevant connections of the function $\zeta_{\nu,\lambda}^{\delta,\mu}$ with those considered in [5] are also indicated. In Section 3, we establish several integral representations for the function $\zeta_{\nu,\lambda}^{\delta,\mu}$ involving integral representations of Eulerian integral of the second kind, contour integral and Mellin-Barnes integral. Section 4 is devoted to the differentiation of the function $\zeta_{\nu,\lambda}^{\delta,\mu}$ with respect to arguments x,z,λ,δ and a. In Section 5, we present some series expansions for the function $\zeta_{\nu,\lambda}^{\delta,\mu}$ involving Appell's function of two variables F_2 , the extended Gauss hypergeometric function F_p , the extended confluent hypergeometric function Φ_p and the generalized hypergeometric function and the Laguerre polynomials. Finally, in Section 6, we present an application of the extended Hurwitz-Lerch zeta function $\zeta_{\nu,\lambda}^{\delta,\mu}$ to probability distributions.

2. The Extended Hurwitz-Lerch Zeta Function $\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p)$

Based on the extension of Euler's beta function (1.10) and Hurwitz-Lerch zeta function (1.7), we propose and investigate an extended Hurwitz-Lerch zeta function of the form

(2.1)
$$\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) = \sum_{m=0}^{\infty} \frac{B(\mu+m,\nu-\mu;p)}{B(\mu,\nu-\mu)} \frac{(\delta)_m x^m}{m!(a+\lambda m)^z},$$

$$\left(|x|<1;\{\delta,\mu,\nu\}\in\mathbb{C}\setminus\mathbb{Z}_0^-,\lambda\in\mathbb{C}\setminus\{0\};a\in\mathbb{C}\setminus\{-(\lambda m)\},\Re(p)\geq0,m\in\mathbb{N}_0\right).$$

Remark 2.1. By letting $\lambda = 1$ in (2.1), we obtain the definition (1.15) of Parmar and Raina [25]. Hence definition (2.1) is a unification and generalization of (1.15). Consequently, if we let $\lambda = 1$ in any result of our findings in this work, we get new formulas for the definition (1.15). Clearly, we have

(2.2)
$$\zeta_{\mu,1}^{1,\mu}(1;z,a;0) = \zeta(z,a),$$

(2.3)
$$\zeta_{\mu,1}^{1,\mu}(x;z,a;0) = \Phi(x,z,a),$$

(2.4)
$$\zeta_{\nu,1}^{\mu,\nu}(x;z,a;0) = \Phi_{\mu}^*(x,z,a),$$

(2.5)
$$\zeta_{\nu,1}^{\delta,\mu}(x;z,a;0) = \Phi_{\delta,\mu;\nu}(x,z,a).$$

The case when p = 0 of the assertion (2.1) gives us a new generalization of the zeta function $\Phi_{\lambda,\mu;\nu}$ in the form:

(2.6)
$$\Phi_{\nu,\lambda}^{\delta,\mu}(x;z,a) = \sum_{m=0}^{\infty} \frac{(\delta)_m(\mu)_m x^m}{(\nu)_m m! (a+\lambda m)^z},$$

 $\left(|x|<1;\{\delta,\mu,\nu\}\in\mathbb{C}\setminus\mathbb{Z}_0^-,\lambda\in\mathbb{C}\setminus\{0\};a\in\mathbb{C}\setminus\{-\lambda m\},m\in\mathbb{N}\cup\{0\}\right).$ In the case when $\lambda=p=0$, we have simply

(2.7)
$$\zeta_{\nu,1}^{\delta,\mu}(x;1,a;0) = a^{-1} \sum_{m=0}^{\infty} \frac{(a)_m(\delta)_m(\mu)_m x^m}{(\nu)_m(a+1)_m m!},$$

which implies the next result.

Corollary 2.1. *Let* $|x| < 1, \Re(a) > 0$. *Then*

(2.8)
$$\zeta_{\nu,1}^{\delta,\mu}(x;1,a;0) = a^{-1}{}_{3}F_{2}[a,\delta,\mu;a+1,\nu;x],$$

where $_3F_2$ is the generalized Gaussian hypergeometric function of one variable (cf. [29]).

Corollary 2.2. Let $\lambda = 0, |x| < 1$. Then

(2.9)
$$\zeta_{\nu,0}^{\delta,\mu}(x;z,a;p) = a^{-z} F_p\left(\delta,\mu;\nu;x\right).$$

Proof. We have

$$\zeta_{\nu,0}^{\delta,\mu}(x;z,a;p) = \sum_{m=0}^{\infty} \frac{B(\mu+m,\nu-\mu;p)}{B(\mu,\nu-\mu)} \frac{(\delta)_m x^m}{m! a^z}.$$

Then by considering the extended Gaussian hypergeometric function F_p (see Eq.

$$(1.11)$$
, we get (2.9) .

Further, we recall the definition of the derivative operator D_x^m (see e.g. [22]):

(2.10)
$$D_x^m x^{\delta+m-1} = \frac{\Gamma(\delta+m)}{\Gamma(\delta)} x^{\delta-1} = (\delta)_m x^{\delta-1}, m \in \mathbb{N}_0.$$

Now, from (2.10) it is not difficult to infer the following interesting relation

Corollary 2.3. Let $\Re(\delta) > 0, \lambda = 0, |x| < 1$. Then

(2.11)
$$\zeta_{\nu,0}^{\delta,\mu}(x;z,a;p) = x^{1-\delta} \Phi_p(\mu;\nu;D_x x) x^{\delta-1},$$

where Φ_p is the extended confluent hypergeometric function defined by (1.12). *Proof.* We refer to the proof of (2.9).

Further, with the help of Euler's integral [10]

(2.12)
$$a^{-z}\Gamma(z) = \int_0^\infty e^{-at} t^{z-1} dt,$$

and Hankel's integral [13,p.32(1.5.1.5)]:

(2.13)
$$\frac{1}{2\pi i} \int_{c} e^{t} t^{-(\delta+m)} dt = \frac{1}{\Gamma(\delta+m)}, m \in \mathbb{N}_{0}, \delta \neq \mathbb{Z}_{0}^{-},$$

we can derive the following connections of the extended Hurwitz-Lerch zeta function $\zeta_{\nu,\lambda}^{\delta,\mu}$.

Corollary 2.4. Let $\Re(\delta) > 0, \Re(z) > 0, |x| < 1$. Then

(2.14)
$$\frac{1}{\Gamma(z)} \int_0^\infty e^{-at} t^{z-1} \zeta_{\nu,\lambda}^{\delta,\mu}(xe^{-\lambda t}; -z, a; p) dt = F_p(\delta, \mu; \nu; x),$$

(2.15)
$$\frac{a^{z}\Gamma(\delta)}{2\pi i} \int_{c} e^{t} t^{-\delta} \zeta_{\nu,0}^{\delta,\mu}(xt^{-1};z,a;p) dt = \Phi_{p}(\mu;\nu;x).$$

Proof. The results (2.14) and (2.15) follow directly from the formulas (2.12) and (2.13) respectively.

Furthermore, putting $\delta = \alpha + \beta$ in (2.1) and using the classical formula of Nörlund for the Pochhammer symbol (cf. [3, Section 1, Chapter 3]):

(2.16)
$$(a+b)_k = \sum_{m=0}^k \binom{k}{m} (a)_{k-m} (b)_m,$$

we find the form (2.1) that

$$\zeta_{\nu,\lambda}^{\alpha+\beta,\mu}(x;z,a;p) = \sum_{m=0}^{\infty} \frac{B(\mu+m,\nu-\mu;p)}{B(\mu,\nu-\mu)} \frac{(\alpha)_m}{(a+\lambda m)^z}$$

(2.17)
$$\times {}_{2}F_{1} \begin{bmatrix} -m, \beta; \\ 1-\alpha-m; \end{bmatrix} \frac{x^{m}}{m!}.$$

Since

$$\lim_{|\lambda| \to \infty} \left\{ (\lambda)_m \frac{x^m}{\lambda} \right\} = x^m,$$

for bounded x and $m \in \mathbb{N}_0$, we infer the following confluent form of the function $\zeta_{\nu,\lambda}^{\delta,\mu}$: (2.18)

$$\lim_{|\delta| \to \infty} \left\{ \zeta_{\nu,\lambda}^{\delta,\mu} \left(\frac{x}{\delta}; z, a; p \right) \right\} = \zeta_{\nu,\lambda}^{\mu} \left(x; z, a; p \right) = \sum_{m=0}^{\infty} \frac{B(\mu + m, \nu - \mu; p)}{B(\mu, \nu - \mu)} \frac{x^m}{m! (a + \lambda m)^z}.$$

3. Integral Images of $\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p)$

First, by using the results

(3.1)
$$(a + \lambda m)^{-z} x^m = \frac{1}{\Gamma(z)} \int_0^\infty (x e^{-\lambda})^m t^{z-1} e^{-at} dt,$$

and

(3.2)
$$(\delta)_m = \frac{1}{\Gamma(\delta)} \int_0^\infty u^{\delta + m - 1} e^u du,$$

which follow from the Eulerian integral (2.12) and exploiting the integral representation of the extended beta function B(x, y; p)[6]:

(3.3)
$$B(x,y;p) = e^{-2p} \int_0^\infty \frac{u^{x-1}}{(1+u)^{x+y}} \exp\left[-p(u+u^{-1})\right] du,$$

we can derive the following triple integral image of $\zeta_{\nu,\lambda}^{\delta,\mu}$:

Theorem 3.1. Let $\min\{\Re(a), \Re(z), \Re(\delta), \Re(\mu)\} > 0$. Then

$$\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) = \frac{e^{-2p}}{B(\mu,\nu-\mu)\Gamma(\delta)\Gamma(z)} \int_0^\infty \int_0^\infty \int_0^\infty \frac{t^{z-1}s^{\mu-1}u^{\delta-1}}{(1+u)^{\nu}} e^{-(at+s)}$$

$$(3.4) \times e^{-p(u+u^{-1})} \times e^{\left(\frac{uxse^{-\lambda}}{1+u}\right)} dudsdt,$$

Proof. Given the definitions (2.1) and (3.3), it is easily seen that

$$\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) = \frac{e^{-2p}}{B(\mu,\nu-\mu)} \sum_{m=0}^{\infty} \int_{0}^{\infty} \frac{u^{\mu+m-1}}{(1+u)^{\nu+m}} \exp\left[-p(u+u^{-1})\right]$$

$$(3.5) \times \frac{(\delta)_m x^m}{m!(a+\lambda m)^z} du.$$

Now, with the aid of the results (3.1) and (3.2) and by interchanging the order of summation and integration, equation (3.5) gives us the right-hand side of the assertion (3.4).

Now, we processed to derive integral connections between $\zeta_{\nu,\lambda}^{\delta,\mu}$ and the functions F_p and $\Phi_{\mu,\lambda}^*$.

Theorem 3.2. Let $\min\{\Re(a), \Re(\delta), \Re(\mu)\} > 0$. Then

(3.6)
$$\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) = \frac{1}{\Gamma(z)} \int_0^\infty e^{-at} t^{z-1} F_p\left(\delta,\mu;\nu;xe^{-\lambda t}\right) dt,$$

$$\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) = \frac{\Gamma(\nu)e^{-2p}}{\Gamma(\mu)\Gamma(\nu-\mu)} \int_0^\infty \frac{s^{\mu-1}}{(1+s)^{\nu}} \exp\left[-p(s+s^{-1})\right]$$
(3.7)
$$\times \Phi_{\delta,\lambda}^*\left(\frac{xs}{1+s};z,a\right) ds.$$

Proof. To prove the formulas (3.6) and (3.7), we employ the integral relations (2.12) and (3.3) respectively, and exploit the same procedure leading to (3.4). \square

Next, utilizing the integral images of the generalized extended Euler's beta function (1.10),(1.13), and (1.14) we can derive the following results.

Theorem 3.3. Let $\Re(a) > 0$ and $\Re(z) > 0$. Then

(3.8)
$$\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) = \frac{1}{B(\mu,\nu-mu)} \int_{0}^{1} t^{\mu-1} (1-t)^{\nu-\mu-1} \exp\left[\frac{-p}{t(1-t)}\right] \Phi_{\lambda}^{*}(xt,z,a) dt,$$

$$\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) = \frac{1}{B(\mu,\nu-\mu)} \times \int_{0}^{\frac{\pi}{2}} (\cos\theta)^{2\mu-1} (\sin\theta)^{2(nu-\mu)-1} \exp\left(-p\sec^{2}\theta\csc^{2}\theta\right)$$
(3.9)
$$\times \Phi_{\delta,\lambda}^{*}(x\cos^{2}\theta,z,a) dt,$$

$$\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) = \frac{2^{1-\nu}}{B(\mu,\nu-\mu)} \int_{-\infty}^{\infty} (\cosh x)^{\nu} \exp\left[-(x\nu + 4p\cosh^2 x)\right]$$

(3.10)
$$\times \Phi_{\delta \lambda}^*(x \cosh x \ e^{-\nu}, z, a) dx.$$

Proof. The results follow directly from the formulas (1.10), (1.13), and (1.14) respectively.

Further, we shall prove $\zeta_{\nu,\lambda}^{\delta,\mu}$ as an application of the Mellin-Barnes type integral. Our starting point is the formula (see [30, section 14.51,p.289, Corollary]; also see [17]):

$$(3.11) (1-\omega)^{-z} = \frac{1}{2\pi i} \int_{c} \frac{\Gamma(z+\nu)\Gamma(-\nu)(-\omega)^{\nu}}{\Gamma(z)} d\nu,$$

where z and ω are complex with $\Re(z) > 0$, $|arg(\omega)| < \pi, \omega \neq 0$, and the path is the vertical line from $c - i\infty$ to $c + i\infty$. This formula in [30] is stated with c = 0, (with suitable modification of the path near the point z = 0), but it is clear that the formula is also valid for $-\Re(z) < c < 0$.

Theorem 3.4. Let $\Re(z) > 0, \Re(a-b) > 0, \Re(b) > 0, |x| < 1$. Then

(3.12)
$$\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) = \frac{b^{z+\nu}}{2\pi i} \int_{\mathbb{R}} \frac{(\Gamma(\nu+z)\Gamma(-\nu)}{\Gamma(z)} \zeta_{\mu,\nu}^{\delta,\lambda}(x;-\nu,a-b;p) d\nu,$$

Proof. Let $\omega = (b - a - \lambda m)/b$ in (3.11) and multiply both the sides by

$$\frac{B(\mu+m,\nu-\mu)}{B(\mu,\nu-\mu)}\frac{(\delta)_m x^m}{m!}, (m \in \mathbb{N}_0),$$

to obtain

$$\left(\frac{B(\mu+m,\nu-\mu)}{B(\mu,\nu-\mu)}\frac{(\delta)_m x^m}{m!}\right)(a+\lambda m)^{-z}$$

$$=\int_c \frac{(\Gamma(\nu+z)\Gamma(-\nu)}{\Gamma(z)} \times \left(\frac{B(\mu+m,\nu-\mu)}{B(\mu,\nu-\mu)}\frac{(\delta)_m x^m}{m!(a-b+\lambda m)^{-\nu}}\right) d\nu, m \ge 0.$$

Therefore, if we assume $(1 - \Re(\nu) < c < -1$, then from (2.1), we get (3.12) \square .

Furthermore, by using the Mellin transform representation of the extended beta function B(x, y; p) in terms of Mellin-Barnes type contour integral [9]:

(3.13)
$$B(x,y;z,a;p) = \frac{1}{2\pi i} \int_{\gamma-i\infty}^{\gamma+i\infty} \frac{(\Gamma(s)\Gamma(x+s)\Gamma(y+s)}{\Gamma(x+y+2s)} p^{-s} ds,$$

we have the following complex integral representation for $\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p)$.

Theorem 3.5. Let $\Re(p) \ge 0, m > 0$ and $\gamma > 0$. Then (3.14)

$$\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) = \frac{1}{2\pi i} \int_{\gamma-i\infty}^{\gamma+i\infty} \frac{(\Gamma(s)\Gamma(\nu-\mu+s)\Gamma(\mu+s)\Gamma(\nu)}{\Gamma(\mu)\Gamma(\nu-\mu)\Gamma(nu+2s)} p^{-s} \Phi_{\nu+2s,\lambda}^{\delta,\mu+s}(x;z,a) ds.$$

where $\Phi_{\nu,\lambda}^{\delta,\mu}$ is zeta function defined by (2.6).

Proof. Using the formula (3.13) in the definition (2.1), interchanging the order of summation and integration, and considering the definition (2.6), we led to the desired result (3.14).

Now, with help of the limiting case (2.18), we establish the next integral image.

Theorem 3.6. Let $\Re(p) \ge 0, |x| < 1$. Then

(3.15)
$$\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) = \frac{1}{\Gamma(\delta)} \int_0^\infty u^{\delta-1} e^u \zeta_{\nu,\lambda}^{\mu}(xu;z,a;p) du.$$

Proof. The result follows directly from the definition (2.1) and the formula (3.2). \square

4. Differentiation Formulas of $\zeta_{\nu,\lambda}^{\delta,\mu}$

The extended Hurwitz-Lerch zeta function $\zeta_{\nu,\lambda}^{(\delta,\mu)}$, as a function satisfies several differential relations. Fortunately these properties of $\zeta_{\nu,\lambda}^{\delta,\mu}$ can be developed directly from the definition (2.1). In this section, we will find the differentiation of the function $\zeta_{\nu,\lambda}^{\delta,\mu}$ concerning arguments x,z,λ,δ,a and p. Firstly, we recall the following result [22]

(4.1)
$$D_x^m x^n = \frac{\Gamma(n+1)}{\Gamma(n-m+1)} x^{n-m}, n-m \ge 0, D_x = \frac{d}{dx}.$$

Theorem 4.1. Let $k \in \mathbb{N}$. Then

$$(4.2) D_x^k \left\{ \zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) \right\} = \frac{(\delta)_k(\mu)_k}{(\nu)_k} \zeta_{\nu+k,\lambda}^{\delta+k,\mu+k}(x;z,a+\lambda k;p),$$

(4.3)
$$D_a^k \left\{ \zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) \right\} = (-1)^k (z)_k \zeta_{\nu,\lambda}^{\delta,\mu}(x;z+k,a;p).$$

Proof. Using (4.1), we get

(4.4)
$$D_x^k \left\{ \zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) \right\} = \sum_{m=0}^{\infty} \frac{B(\mu+m,\nu-\mu;p)}{B(\mu,\nu-\mu)} \frac{(\delta)_m x^{m-k}}{(m-k)!(a+\lambda m)^z}.$$

Now, letting $m \to m + k$ in (4.4) and considering the definition (2.1), we get the right-hand side of the formula (4.2). Similarly, one can prove the formula (4.3). \square According to the relation (2.2), formula (4.3) reduces to the result

(4.5)
$$D_a^k \zeta(z, a) = (-1)^k (z)_k \zeta(z + k, a),$$

which is a known result (see e.g. [12,p.2(1.8)]). Given the relationship (2.5), we find from equation (4.3) that

(4.6)
$$D_a^k \{\Phi_{\delta,\mu;\nu}(x,z,a)\} = (-1)^k (z)_k \Phi_{\delta,\mu;\nu}(x,z+k,a).$$

Secondly, we show that the extended Hurwitz-Lerch zeta function $\zeta_{\mu,\nu}^{\delta,\lambda}$ satisfies the following differential relation.

Theorem 4.2. Let $\{(\delta - k), (\mu - k), (\nu - k)\} \neq \mathbb{Z}_0^-, k \in \mathbb{N}_0$. Then

(4.7)
$$\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) = (-1)^k \frac{(1-\nu)_k}{(1-\delta)_k (1-\mu)_k} D_x^k \left[\zeta_{\nu-k,\lambda}^{\delta-k,\mu-k}(x;z,a-\lambda k;p) \right].$$

Proof. Let I denote the right-hand side of the assertion (4.7). Then given (2.1) and (4.1) we have

$$(4.8) \qquad I = \frac{(-1)^k (1-\nu)_k}{(1-\mu)_k (1-\delta)_k} \sum_{m=0}^{\infty} \frac{B(\mu+m-k,\nu-\mu;p)(\delta-k)_m x^{m-k}}{B(\mu,\nu-\mu)(a-\lambda k+\lambda m)^z (m-k)!}.$$

Now, by letting m = m + k and using the identities

(4.9)
$$B(\mu - k, \nu - \mu) = \frac{(1 - \nu)_k}{(1 - \mu)_k} B(\mu, \nu - \mu),$$

and

$$(4.10) (a)_{-n} = \frac{(-1)^n}{(1-a)_n},$$

we led to the left-hand side of (4.7)

Next, we establish the derivative of the function $\zeta_{\nu,\lambda}^{\delta,\mu}$ with respect to the argument λ .

Theorem 4.3. Let $b \in \mathbb{R}$. Then

$$\frac{\partial}{\partial \lambda} \zeta_{\nu,\lambda}^{\delta,\mu}(x;z-1,a+\lambda b;p)$$

$$(4.11) = (1-z) \left[\left(\frac{x\delta\mu}{\nu} \right) \zeta_{\nu+1,\lambda}^{\delta+1,\mu+1}(x;z,a+\lambda(b+1);p) + b\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a+\lambda b;p) \right].$$

Proof. We have $\frac{\partial}{\partial \lambda} \zeta_{\nu,\lambda}^{\delta,\mu}(x;z-1,a+\lambda b;p)$

$$= (1 - z) \left[\sum_{m=1}^{\infty} \frac{B(\mu + m, \nu - \mu; p)(\delta)_m x^m}{B(\mu, \nu - \mu)(m-1)! (a + \lambda(m+b))^z} \right]$$

(4.12)
$$+b \sum_{m=0}^{\infty} \frac{B(\mu+m,\nu-\mu;p)(\delta)_{m}x^{m}}{B(\mu,\nu-\mu)m!(a+\lambda(m+b))^{z}} \right].$$

Now , let $m \to m+1$ in the (4.13) and then use the identity

$$(\mu)_{m+k} = (\mu)_k (\mu + k)_m,$$

to obtain
$$(4.11)$$
.

The same type of differentiation gives the next result.

Theorem 4.4. Let $q \in \mathbb{R}$. Then

(4.13)
$$\frac{\partial}{\partial a} \zeta_{\nu,\lambda}^{\delta,\mu}(x;z-1,a+bq;p) = b(1-z)\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a+bq;p).$$

Proof. We refer to the proof of assertion (4.11).

Because of relation (2.5), the assertion (4.13) gives the result

(4.14)
$$\frac{\partial}{\partial a} \Phi_{\delta,\mu;\nu}(x;z-1,a+bq) = b(1-z)\Phi_{\delta,\mu;\nu}(x;z,a+bq).$$

Also, it is easily observed that the differential relation (4.13) is a generalization of the known result (see e.g. [11,p.451(2.2)]):

(4.15)
$$\frac{\partial}{\partial q}\zeta(z-1,a+qb) = b(1-z)\zeta(z,a+qb).$$

Closely associated with the derivative of the gamma function is the digamma function defined by (see e.g.[20])

(4.16)
$$\psi(x) = \frac{d}{dx} \ln \Gamma(x) = \frac{\Gamma'(x)}{\Gamma(x)}, x \neq 0, -1, -2, \cdots.$$

Now, we establish the derivative of the function $\zeta_{\nu,\lambda}^{\delta,\mu}$ with respect to the parameter δ .

Theorem 4.5. Let $\delta \in \mathbb{C} \setminus \mathbb{Z}_0^-$. Then

$$\frac{\partial}{\partial \delta} \zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p)$$

$$(4.17) \qquad = \sum_{m=0}^{\infty} \frac{B(\mu+m,\nu-\mu;p)}{B(\mu,\nu-\mu)} \frac{(\delta)_m x^m}{(a+\lambda m)^z m!} \psi(\delta+m) - \psi(\delta) \zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p).$$

Proof. By noting that

(4.18)
$$\frac{\partial}{\partial \delta} [(\delta)_m] = \frac{\partial}{\partial \delta} \left[\frac{\Gamma(\delta + m)}{\Gamma(\delta)} \right] = (\delta)_m \left[\psi(\delta + m) - \psi(\delta) \right],$$

we obtain the result $(4.17)\square$.

Further, let us recall the definition of the Weyl fractional derivative of the exponential function e^{-at} , a > 0 of order ν in the form (see [22,p.248(7.4)]):

(4.19)
$$D^{\nu} \left\{ e^{-at} \right\} = a^{\nu} e^{-at} \ (\nu \text{ not restricted to be positive integer}).$$

We now proceed to find the fractional derivative of the function $\zeta_{\nu,\lambda}^{\delta,\mu}$ concerning z.

Theorem 4.6. Let $\nu > 0$. Then

$$D_z^{\nu} \left\{ \zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) \right\}$$

$$(4.20) \qquad = \sum_{m=0}^{\infty} \frac{B(\mu+m,\nu-\mu;p)}{B(\mu,\nu-\mu)} \frac{(\delta)_m x^m}{m!(a+\lambda m)^z} \times \left[\log(a+\lambda m)\right]^{\nu}.$$

Proof. Since

$$(a+\lambda m)^{-z} = e^{-z\log(a+\lambda m)},$$

we have

$$\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) = \sum_{m=0}^{\infty} \frac{B(\mu+m,\nu-\mu;p)}{B(\mu,\nu-\mu)} \frac{(\delta)_m x^m}{m!} e^{-z\log(a+\lambda m)}.$$

The desired result now follows by applying the formula (4.19) to the above identity. \Box

Finally, it is interesting to note that the k-th derivative of the extended zeta

function $\zeta_{\nu,\lambda}^{\delta,\mu}$ concerning the parameter p is given by the following theorem.

Theorem 4.7. Let $k \in \mathbb{N}$. Then

$$(4.21) \qquad \hat{D}_{p}^{k} \left\{ \zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) \right\} = (-1)^{k} \frac{B(\mu-k,\nu-\mu-k)}{B(\mu,\nu-\mu)} \zeta_{\nu-2k,\lambda}^{\delta,\mu-k}(x;z,a;p).$$

Proof. From definitions (2.1) and (1.10) and the formula (4.1), we can state that (4.22)

$$\hat{D}^k_p\left\{\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p)\right\} = (-1)^k \sum_{m=0}^\infty \frac{B(\mu+m-k,\nu-\mu-k;p)}{B(\mu,\nu-\mu)} \frac{(\delta)_m x^m}{m!(a+\lambda m)^z}.$$

Now, by interpreting the above series in the form of the definition (2.1), we obtain the desired result (4.21).

5. Series Involving $\zeta_{\nu,\lambda}^{\delta,\mu}$

The purpose of this section is to establish some series relations for the extended bivariate series zeta function $\zeta_{\nu,\lambda}^{\delta,\mu}$. First, based on the two forms of Taylor's theorem for the deduction of addition and multiplication theorems for the confluent hypergeometric function (cf.[13,p.63, Equations(2.8.8) and (2.8.9)] or [28,p.21-22]):

(5.1)
$$f(x+y) = \sum_{m=0}^{\infty} f^{(m)}(x) \frac{y^m}{m!},$$

and

(5.2)
$$f(xy) = \sum_{m=0}^{\infty} f^{(m)}(x) \frac{[(y-1)x]^m}{m!},$$

where $|y| < \rho$, ρ being the radius of convergence of the analytic function f(x), we aim to discuss certain addition and multiplication theorems of the extended bivariate zeta function $\zeta_{\nu,\lambda}^{\delta,\mu}$.

Theorem 5.1. Let $|\omega| < 1$. Then

(5.3)
$$\zeta_{\nu,\lambda}^{\delta,\mu}(x+\omega;z,a;p) = \sum_{k=0}^{\infty} \frac{(\delta)_k(\mu)_k}{(\nu)_k} \zeta_{\nu+k,\lambda}^{\delta+k,\mu+k}(x+\omega;z,a+\lambda k;p) \frac{\omega^k}{k!},$$

(5.4)
$$\zeta_{\nu,\lambda}^{\delta,\mu}(x\omega;z,a;p) = \sum_{k=0}^{\infty} \frac{(\delta)_k(\mu)_k}{(\nu)_k} \zeta_{\nu+k,\lambda}^{\delta+k,\mu+k}(x(\omega-1);z,a+\lambda k;p) \frac{x^k}{k!},$$

Proof. The proof is a direct application of the formulas (5.1),(5.2), and the first result of Theorem 4.1.

Next, we derive the Taylor expansion of $\zeta_{\nu,\lambda}^{\delta,\mu}$ in the fourth variable a.

Theorem 5.2. Let $|\omega| < \Re(a)$. Then

$$(5.5) \quad \sum_{k=0}^{\infty} \zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a+k+\omega;p)y^{k} = \sum_{k=0}^{\infty} (-1)^{k} \Phi(y,z+k,a) \times \zeta_{\mu,\nu}^{\delta,\lambda}(x,-k,\omega) \frac{(z)_{k}}{k!}$$

Proof. We have

$$\sum_{k=0}^{\infty} \zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a+k+\omega;p) y^k = \sum_{k=0}^{\infty} \sum_{m=0}^{\infty} \frac{B(\mu+m,\nu-\mu;p)}{B(\mu,\nu-\mu)} \frac{(\delta)_m x^m y^k}{m!} (a+k)^{-z} \left(1 + \frac{\omega+\lambda m}{a+k}\right)^{-z}.$$

The result now follows from the binomial expansion and the definitions (1.3) and (2.1).

Equation (5.5) gives several known and new series expansions as particular cases. For instance, because of the relation (2.3), we find from (5.5) that

(5.7)
$$\Phi(y, z, a + \omega) = \sum_{k=0}^{\infty} (z)_k \Phi(y, z + k, a) \frac{\omega^k}{k!}, (z \neq 1, |\omega| < |a|,$$

which is a known result due to Raina and Chhajed [27,p.93(3.3)]. Moreover according to the relationship (2.2), equation (5.5) yields

(5.8)
$$\zeta(z, a + \omega) = \sum_{k=0}^{\infty} (-1)^k (z)_k \zeta(z + k, a) \frac{\omega^k}{k!}.$$

Note that, formula (5.8) is a known result due to Kanemitsu et al. [16,p.5(2.6)]. Furthermore, if in (5.7) we let $y = e^{2\pi i\alpha}$ (in conjunction with (1.4)), formula (5.7) reduces to a known power series expansion due to Klusch [18]:

(5.9)
$$\phi(\alpha, a + \omega, z) = \sum_{k=0}^{\infty} (-1)^k (z)_k \phi(\alpha, a, z + k) \omega^k, |\omega| < a.$$

Another expansion function for $\zeta_{\nu,\lambda}^{*(\delta,\mu)}$ can be derived by using the result [20,p.374, Exercise 9.4(7)]:

(5.10)
$${}_{2}F_{1}\left[a, a+\frac{1}{2}; \frac{1}{2}; x\right] = \frac{1}{2}\left(1+\sqrt{x}\right)^{-2a} + \frac{1}{2}\left(1-\sqrt{x}\right)^{-2a}.$$

Theorem 5.3. Let $\mu \ge 1$, Re(a) > 0, |x| < 1, |y| < 1 and $|\omega| < |a|$. Then

$$\sum_{k=0}^{\infty} \binom{z+2k-1}{2k} \zeta_{\nu,\lambda}^{\delta,\mu}(x;z+2k,a;p) \omega^{2k}$$

$$(5.11) \qquad = \frac{1}{2} \left[\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a+\omega;p) + \zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a-\omega;p) \right].$$

Proof.We have

$$\sum_{k=0}^{\infty} \binom{z+2k-1}{2k} \zeta_{\nu,\lambda}^{\delta,\mu}(x;z+2k,a;p) \omega^{2k}$$

(5.12)
$$= \sum_{m=0}^{\infty} \frac{B(\mu+m,\nu-\mu;p)}{B(\mu,\nu-\mu)} \frac{(\delta)_m x^m}{m!(a+\lambda m)^z} \sum_{k=0}^{\infty} \frac{(z)_{2k} \omega^{2k}}{(2k)!(a+\lambda m)^{2k}}.$$

By applying the formula (5.10) to the last summation on the right-hand side of the equation (5.12), we led to the result (5.11).

Next, we derive a series expansion for the extended zeta function $\zeta_{\nu,\lambda}^{\delta,\mu}$ involving Apple's hypergeometric function of two variables F_2 defined by the series (see e.g. [29]):

(5.13)
$$F_{2}[a, b_{1}, b_{2}; c_{1}, c_{2}; x, y] = \sum_{m,n=0}^{\infty} \frac{(a)_{m+n}(b_{1})_{m}(b_{2})_{n}x^{m}y^{n}}{(c_{1})_{m}(c_{2})_{n}m!n!},$$
$$max\{|x|, |y|\} < 1.$$

Theorem 5.4. Let $|b| < \Re(a)$ and $\lambda \neq 0$. Then

$$\sum_{k=0}^{\infty}(z)_k\zeta_{\nu,\lambda}^{\delta,\mu}(x;z+k,a+b;p)\frac{\omega^k}{k!}=\sum_{m=0}^{\infty}\frac{B(\mu+m,\nu-\mu;p)}{B(\mu,\nu-\mu)}\frac{(\delta)_mx^m}{m!}$$

(5.14)
$$\times F_2\left[z,\nu,1;z,1;\frac{-\lambda m}{a+b},\frac{\omega}{a+b}\right](a+b)^{-z}.$$

Proof. Since

$$(a+b+\lambda m)^{-(z+k)} = (a+b)^{-(z+k)} \left(1 + \frac{\lambda m}{a+b}\right)^{-(z+k)},$$

it follows that

$$\sum_{k=0}^{\infty} (z)_k \zeta_{\nu,\lambda}^{\delta,\mu}(x;z+k,a+b;p) \frac{\omega^k}{k!}$$

$$=\sum_{m=0}^{\infty}\frac{B(\mu+m,\nu-\mu;p)}{B(\mu,\nu-\mu)}\frac{(\delta)_mx^m}{m!(a+b)^z}$$

$$(5.15) \times \sum_{k=0}^{\infty} \sum_{n=0}^{\infty} \frac{(z)_{k+n}(\nu)_k}{k! n! (z)_k} \times \left(\frac{\omega}{a+b}\right)^k \left(\frac{-\lambda m}{a+b}\right)^n.$$

The result (5.14) now follows from the definition (5.13).

Indeed, for x = p = b = 0 equation (5.14) reduces to the well-known result of Ramanujan (see [26] or [24,p.396(6)]):

$$\zeta(z, a - \omega) = \sum_{k=0}^{\infty} \frac{(z)_k}{k!} \zeta(z + k, a) \omega^n(|\omega| < |a|, z \neq 1).$$

Moreover, we give a representation of the extended zeta function $\zeta_{\nu,\lambda}^{\delta,\mu}$ in terms of Laguerre polynomials. We start by recalling the useful identity used in [23]

(5.16)
$$e^{\left(\frac{-p}{t(1-t)}\right)} = e^{-2p} \sum_{m,n=0}^{\infty} L(p)_m L(p)_n t^{m+1} (1-t)^{n+1}; |t| < 1.$$

Theorem 5.5. Let $\{\delta, \mu, \nu\} \in \mathbb{C} \setminus \mathbb{Z}_0^-, \lambda \in \mathbb{C} \setminus \{0\}; a \in \mathbb{C} \setminus \{-(\lambda m)\}, \Re(p) \geq 0$. Then

$$\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) = \frac{e^{-2p}}{B(\mu,\nu-\mu)} \sum_{m=0}^{\infty} \sum_{s,r=0}^{\infty} \frac{B(\mu+\delta+m+1,\nu-\mu+r+1)}{m!(a+\lambda m)^z}$$

$$(5.17) \times (\delta)_s L_s(p) L_r(p) x^m.$$

Proof. Using (5.16) in (3.8), employing the series expansion of the zeta function ζ_{λ}^{δ} and interchange the order of integration and summation, we obtain the result (5.17).

According to the definition of beta function (see Eq. (1.9)), the assertion (5.17) can be rewritten in the following alternative form:

$$\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p)$$

$$(5.18) = \frac{e^{-2p}\mu(\nu-\mu)}{\nu} \sum_{s,r=0}^{\infty} \frac{(\mu+1)_s(\nu-\mu+1)_r L_s(p) L_r(p)}{(\nu+1)_{s+r}} \zeta_{\nu+s+r+1,\lambda}^{\delta,\mu+s+1}(x;z,a).$$

Now, we turn to derive two generating functions for the function $\zeta_{\nu,\lambda}^{\delta,\mu}$.

Theorem 5.6. Let $|\omega| < 1, \Re(p) \ge 0$. Then

(5.19)
$$\sum_{n=0}^{\infty} (\delta)_n \zeta_{\nu,\lambda}^{\delta+n,\mu}(x;z,a;p) \frac{\omega^n}{n!} = (1-\omega)^{-\delta} \zeta_{\nu,\lambda}^{\delta,\mu} \left(\frac{x}{1-\omega} z,a;p\right),$$

(5.20)
$$\sum_{n=0}^{\infty} (z)_n \zeta_{\nu,\lambda}^{\delta,\mu}(x;z+n,a;p) \frac{\omega^n}{n!} = \zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a-\omega;p).$$

Proof. We have

$$\sum_{n=0}^{\infty} (\delta)_n \zeta_{\nu,\lambda}^{\delta+n,\mu}(x;z,a;p) \frac{\omega^n}{n!}$$

$$= \sum_{m=0}^{\infty} (\delta)_m \frac{B(\mu+m,\nu-\mu;p)}{B(\mu,\nu-\mu)} \left\{ \sum_{n=0}^{\infty} (\delta+m)_n \frac{\omega^n}{n!} \right\} \frac{x^m}{m!(a+\lambda m)^z}.$$

Now, on applying the result

$$(1-t)^{-\lambda} = \sum_{m=0}^{\infty} (\lambda)_m \frac{t^m}{m!} (|t| < 1),$$

we obtain the generating function (5.19). Again, starting from the right-hand side of the assertion (5.20), we can state that

$$\zeta_{\nu,\lambda}^{\delta,\mu}\left(x;z,a-\omega;p\right) = \sum_{m=0}^{\infty} \frac{B(\mu+m,\nu-\mu;p)}{B(\mu,\nu-\mu)} \frac{(\delta)_m x^m}{m!} \left(1 - \frac{\omega}{a+\lambda m}\right)^{-z} \left(a+\lambda m\right)^{-z}.$$

Now, by exploiting the same procedure leading to (5.19) we obtain the assertion (5.20).

6. Probability Distribution of $\zeta_{\nu,\lambda}^{\delta,\mu}$

As in the theory of probability, we introduce the following definition.

Definition 6.1. A random variable ξ is said to be extended generalized Hurwitz distributed if its probability density function is given by

(6.1)
$$f_{\xi}(a) = \begin{cases} \frac{z\zeta_{\nu,\lambda}^{\delta,\mu}(x;z+1,a;p)}{\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,1;p)}, & (a \ge 1) \\ 0 & (\text{otherwise}), \end{cases}$$

where it is tacitly assumed that the arguments x, z and p and the parameters δ, μ, ν , and λ are fixed and suitably constrained so that the probability density function $f_{\xi}(a)$ remains nonnegative.

Theorem 6.1. Suppose that ξ is a continuous random variable with its probability density function defined by (6.1). Then the moment generating function M(t) of the random variable ξ is given by

$$M(t) = \mathbb{E}_z \left[e^{t\xi} \right] = \sum_{n=0}^{\infty} \mathbb{E}_z \left[\xi^n \right] \frac{t^n}{n!}$$

with the moment $\mathbb{E}_z[\xi^n]$ of order n given by

(6.2)
$$\mathbb{E}_{z}\left[\xi^{n}\right] = \sum_{k=0}^{n} \frac{n!}{(n-k)!} \frac{\Gamma(z-k)}{\Gamma(z)} \frac{\zeta_{\nu,\lambda}^{\delta,\mu}\left(x;z-k,1;p\right)}{\zeta_{\nu,\lambda}^{\delta,\mu}\left(x;z,1;p\right)}.$$

Proof. The assertion in (6.1) can be derived easily by using the exponential series for $e^{t\xi}$. On the other hand, since

(6.3)
$$\frac{d}{da}\left\{\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p)\right\} = -z\zeta_{\nu,\lambda}^{\delta,\mu}(x;z+1,a;p),$$

which follows readily from the assertion (4.3), if we make use of integration by parts, we find from the definition of the moment $E_z[\xi^n]$ that

$$\begin{split} E_z[\xi^n] &= \int_1^\infty a^n f_\xi(a) da = \frac{z}{\zeta_{\nu,\lambda}^{\delta,\mu}\left(x;z,1;p\right)} \int_1^\infty a^n \zeta_{\nu,\lambda}^{\delta,\mu}\left(x;z+1,a;p\right) da \\ &= -\frac{1}{\zeta_{\nu,\lambda}^{\delta,\mu}\left(x;z,1;p\right)} \int_1^\infty a^n \frac{d}{da} \zeta_{\nu,\lambda}^{\delta,\mu}\left(x;z,a;p\right) da \\ &= -\frac{a^n \zeta_{\nu,\lambda}^{\delta,\mu}\left(x;z,a;p\right)}{\zeta_{\nu,\lambda}^{\delta,\mu}\left(x;z,1;p\right)} \bigg|_{a=1}^\infty + \frac{n}{\zeta_{\nu,\lambda}^{\delta,\mu}\left(x;z,1;p\right)} \\ &\times \int_1^\infty a^{n-1} \zeta_{\nu,\lambda}^{\delta,\mu}\left(x;z,a;p\right) da \\ &= 1 - \lim_{a \to \infty} \left\{ \frac{a^n \zeta_{\nu,\lambda}^{\delta,\mu}\left(x;z,a;p\right)}{\zeta_{\nu,\lambda}^{\delta,\mu}\left(x;z,1;p\right)} \right\} + \frac{n}{\zeta_{\nu,\lambda}^{\delta,\mu}\left(x;z,1;p\right)} \\ &\times \int_1^\infty a^{n-1} \zeta_{\nu,\lambda}^{\delta,\mu}\left(x;z,a;p\right) da \end{split}$$

$$(6.4) \qquad = 1 + \frac{n}{\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,1;p)} \times \int_{1}^{\infty} a^{n-1} \zeta_{\nu,\lambda}^{\delta,\mu}(x;z,a;p) \, da \qquad (n \in \mathbb{N}),$$

where, in addition to the derivative property (6.3), we have used the following limit formula (see Eq. (3.6)):

$$\lim_{a \to \infty} \left\{ a^n \zeta_{\nu,\lambda}^{\delta,\mu} \left(x; z, a; p \right) \right\}$$

$$= \lim_{a \to \infty} \left\{ \frac{a^n}{\Gamma(z)} \int_1^\infty e^{-at} t^{z-1} F_p\left(\delta, \mu; \nu; x e^{-\lambda t}\right) dt \right\}$$

(6.5)
$$= \frac{1}{\Gamma(z)} \int_{1}^{\infty} \lim_{a \to \infty} \left\{ a^n e^{-at} \right\} t^{z-1} F_p \left(\delta, \mu; \nu; x e^{-\lambda t} \right) dt = 0.$$

Consequently, we have the following reduction formula for $E_z[\xi^n]$:

(6.6)
$$E_{z}[\xi^{n}] = 1 + \frac{\zeta_{\nu,\lambda}^{\delta,\mu}(x;z-1,1;p)}{\zeta_{\nu,\lambda}^{\delta,\mu}(x;z,1;p)} \frac{n}{z-1} E_{z-1}[\xi^{n-1}].$$

By iterating the recurrence (6.4), we arrive at the desired result (6.2) asserted by Theorem 6.1. Note that, a special case of Theorem 4.1 when $\lambda = 0$ was considered by Parmar and Raina [25].

Disclosure statements. No potential conflict of interest was reported by the authors.

Acknowledgementss. We appreciate the anonymous reviewers insightful comments, which improved the readability of the papers presentation.

References

- [1] E. W. Barnes, The theory of the double gamma function, Philos. Trans. Roy. Soc.(A), 196(1901), 265–387.
- [2] E. W. Barnes, On the theory of the double gamma function, Trans. Cambridge Phil. Soc., 19(1904), 374–425.
- [3] C. Berge, Principles of combinatorics, Academic Press(1971).
- [4] Maged G. Bin-Saad, Sums and partial sums of double power series associated with the generalized zeta function and their N-fractional calculus, Math. J. Okayama University, 49(2007), 37–52.
- [5] Maged G. Bin-Saad, Hypergeometric series associated with the Hurwitz-Lerch zeta function, Acta Math. Univ. Comenian, 78(2009), 269–286.
- [6] M. A. Chaudhry and S. M. Zubair, Generalized incomplete gamma function with applications. J. Comput. Appl. Math., 55(1994), 99–124.
- [7] M. A. Chaudhry, A. Qadir, M. Raque and S. M. Zubair, Extension of Euler's beta function, J. Comput. Appl. Math., 78(1997), 19–32.
- [8] M. A. Chaudhry, A. Qadir, H. M. Srivastava and R. B. Paris, *Extended hypergeometric and confluent hypergeometric functions*, Appl. Math. Comput., **159**(2004), 589–602.
- [9] M. A. Chaudhry and S. M. Zubair, On a class of incomplete gamma functions with applications, CRC Press (Chapman and Hall), Boca Raton(2002).
- [10] A. Erdélyi, W. Magnus and F. Oberhettinger, Higher Transcendental Functions, Vol. I, McGraw-Hill, New York (1953).

- [11] O. Espinosa and V. H. Moll, On some integrals involving the Hurwitz zeta function: Part 2, The Ramanujan J., 6(2002), 159–188.
- [12] O. Espinosa and V. H. Moll, A generalized poly gamma function, Integral Transforms Spec. Funct., 15(2)(2004), 101-115.
- [13] H. Exton, Multiple hypergeometric functions and applications, Halsted Press, London(1976).
- [14] M. Garg, K. Jain and S. L. Kalla, A further study of general Hurwitz-Lerch zeta function, Algebras Groups Geom., 25(2008), 311–319.
- [15] S. Goyal and R. K. Laddha, On the generalized Riemann zeta function and the generalized Lambert transform, Ganita Sandesh, 11(1997), 99–108.
- [16] S. Kanemitsu, M. Katsurada and M. Yoshimoto, On the Hurwitz-Lerch zeta function. Aequationes Math., 59(2000), 1–19.
- [17] M. Katsurada, An application of Mellin-Barnes type integrals to the mean square of Lerch zeta-function, Collect. Math., 48(1997), 137–153.
- [18] D. Klusch, On the Taylor expansion of Lerch zeta-function, J. Math. Anal. Appl., 170(1992), 513–523.
- [19] V. Kumar, On the generalized hurwitz-lerch zeta function and generalized lambert transform, J. Class. Anal., 17(1)(2021), 55-67.
- [20] C. A. Larry, Special functions of mathematics for engineers, SPIE Press and Oxford University Press, New York(1998).
- [21] K. Matsumoto, On the analytic continuation of various multiple zeta-functions, Number theory for the millennium, II (Urbana, IL, 2000), 417–440.
- [22] K. S. Miller and B. Ross, An introduction to the fractional calculus and fractional differential equations, New York(1993).
- [23] M. A. Ozaraslan, Some remarks on extended hypergeometric, extended confluent hypergeometric and extended Appell's functions, J. Comput. Anal. Appl., 14(6)(2012), 1148–1153.
- [24] A. P. Prudnikov, Yu. A. Brychkov and O. I. Marichev, *Integrals and Series, Volume* 3, More special functions, Gordon and Breach Science Publishers, New York(1990).
- [25] R. K. Parmar and R. K. Raina, On a certain extension of the Hurwitz-Lerch zeta functionm, An. Univ. Vest Timiş. Ser. Mat.-Inform., 52(2)(2014), 157–170.
- [26] S. Ramanujan, A series for Euler's constant γ, Messenger Math., 46(1916-17), 73–80.
- [27] R. K. Raina and P. K. Chhajed, Certain results involving a class of functions associated with the Hurwitz zeta function, Acta. Math. Univ. Comenianae, 1(2004), 89–100.
- [28] L. J. Slater, Confluent hypergeometric functions, Cambridge Univ., Press(1960).
- [29] H. M. Srivastava and P. K. Karlsson, Multiple Gaussian Hypergeometric Series. Halsted Press, Brimstone, London, New York (1985).
- [30] E. T. Whittaker and G. N. Watson, A Course of Modern Analysis, 4th ed. Cambridge Univ. Press(1927).